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Find Inverse Laplace transform of

S 4
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10. Solve the following difference equation by using
Z-transform
x(n+2)+3x(n+1)+2x(n)=0

Given that initial condition are x(0) = 0 and x(1) =1
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2019(Odd)  owdsynabus
Time : 3Hrs. Sem - VI-EC. Engg
Signal System
Full Marks : 80

Pass Marks : 26

Answer all 20 questions from Group A, each question
carries 1 marks.

Ju-A ¥ afl 20 ¥ B SR T, IAP U BT 9F 1 352 |
Answer all Five questions from Group B, each question
carries 4 marks.
qu-B 4w uig gl & SR <, 9AS U BT 4 435 ¢ |

Answer all Five questions from Group C, each question

carries 8 marks.

7u-C & wift ufg gl & SR <, IS U & 99 § b 2 |

All parts of a question must be answered at one place in
sequence, otherwise they may not be evaluated.
TH U & O e BT SR U@ &) TR (AR & o)
BT AMRY, =41 4 Sifd T8 o ¥ahd © |

The figure in right hand margin indicate marks.
¥ ursd @ e QUile & qad 2 |
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GROUP -C

Answer all Five Questions.

Y ofg gl @ SR Q|

7. Obtain the fourier series of periodic rectangular

8§x5=40

wave form shown in figure.

(1) 8
10

| t
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o A feEme v 3nad! mIdreR 3B &1
HIRER TS sira & |1?

4 X(t)
10

| o
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OR(3721dT)

State and proof time-differentiation property of

fourier transform.

BIRAR TEBIH & FHI—IfdHd [T DI
ford ik aifad v |

0T6025

(i)

(1ii)

(iii)

(iv)

3 21604

fr=ferfRaa % & &9 faww R 21
(31) tsint

@) ¢

(&) Cos't

(%) Swiaa g+

Energy signal has ................... average power.
(a) Zero

(b) Finite

(c) Infinite

(d) None of these

(\) sfifra
() T4 9 BIg 78

Which of the following statement is correct
power signal .

(a) It is non-periodic signal

(b) It has finite energy

(c) It is periodic signal

(d) It has zero energy
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OR(37214)

Discuss associative property of LTI system.

LTI fiew & garRigfed o1 &1 aufq & |

Write the Dirichlet's conditions for fourier Series.

4
HIRER 49 & fov fSRade @ @l &t

ford |
OR(3721dT)

State and proof the time-shifting property of

Fourier transform.

BIRAR TIABIH & FHI—IFIARYT [T &I
for sk aifag a3 |

Explain inverse Laplace transform in brief.
4
3aU ATl STaBIH &) d8u ¥ A o |
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(vi)

(vii)

(vii)

(viii)

5 21604

fr=ferfaa % @ s9—ar R, Reea
X (t) & cIgA—aafdT & yslRfa wwar
2|

(31) x(5¢)

(@) x(t+5)

() x(t-5)

() x(v)

Which of the following is correct relation
(a) Ju (t) . dt=r (1)

(b) Ju (t) .dt = 8(t)

(©) 8 (). dt=r(t)

(d) None of these

fr=fafRaa & @ sl9—ar deg 9 27
@1 Ju().dt=r(t)

(@) Ju (t) .dt=§(t)

() I8 (t). dt=r (1)

(@) 7 9 BIg 7L

Which of the following is non-causal system.
(@)y@-3)=x(n)

b)) y®=x(t+2)

(©ym=x(n-2)

(d) Both (a) and (b)
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(xix)

(xix)

(xx)

(xx)
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Z-transform of d (n +k ) is ..........
(a)l

(b)Z*

(c) Z¥

(d) None of these

S(n+k)®T Z- STaBIH .o 2
(31) 1

@ z*

(@) z*

() 39 9 ®Ig 7€

If Z- transform of x (n) is X (z) , then Z-
transform of X(n - n)) is ........

(a) Z™M. x(z)

(b) Z". x(2)

() Z.x(z)

(d)Z . x(n,.2)

IR x (n) BT Z- STABIH X (z) 8, a9
X(m-n) & Z-¢HEawiH 2
(@) z™.x(z)

@) z™M. x(z)

(®|) Z.x(2)

(®) Z.x(n,.z)

0T6025

x)

(xi)
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WdeH dl 9T 3+ & forv f=faRaa
A @ feasr yann fear omar 2|

(@1 BIRER A=

(@) wIRIR grawid

(|) Z- grawid

(@) ¥ 9@ o1 T

Value of a, in trigonometric fourier series is

(d) None of these
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(xvii) Re

(xvii)

12 0T6025

Number of loops in this signal flow graph,
according to Mason's rule is ...........

(a) Three

(b) Two

(c) Four

(d) None of these

G
Re 1 1 1 oC
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-H, 2

799 W & R, 39 R vl
YT A U B AT ..o 2|

(a1) <=

@ <t

(w) aR

(€) g7 4 »Ig &

0T6025

(xii)

(xiii)

(xiii)

9 21604
X (t) ®T BIRIR giawid ... =G
(%37') .. N x(t) . dt

@) .. " x(t) . e dt

() .. " x(t) . ™ dt

(?) =7 9 I T

Which of the following statement is correct.

(a) Laplace transform can be used for analysis
of unstable system.

(b) There is no difference between laplace
transform and fourier transform

(c) Z- transform is applied to continous-time

signal only.
(d) None of these

frrafaRad 9 @ di9—1 do A 2|
(31) T STBTH BT gARNT AReR
BT fazalyor &1 ¥ far i G@war 21

(@) T SIEBIH MR BIRAR giawid
H PIs 3fa¥ 2] a1 2|

(W) z- ¢Ta%H &1 YT D Fdd—aqd
et o grar 21

(?) 37 9 »Ig
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Z-<Ta%id &1 gar &) frefalaa siar
TSRO B T B |

X (n+2)+3x (n+1)+2x(n)=0

URf® ITd x(0)=0 3R x(1) =1 faw 77 2|

OR (3721dT)

Determine the Inverse Z- transform of

Vi
———— for | Z|>1
(3z -4z+ 1)
Z - - i)
S &I 399 STABiH ST B |
(3z -4z + 1)
SIel | Z1>1 B

11. Simpfiy the block diagram shown in figure and find
its overall transfer function.
8
Gz(s)
R(s)_3{ Gy(5) 3 [eND) -I: G4(9) >Y(s)
H (s) H,(s)

0T6025 21 21604

Z-<Ta%id &1 AT &) frefalaa siar
TSRO B TA B |

X (n+2)+3x (n+1)+2x(n)=0

URf® Id x(0)=0 3R x(1) =1 faw 77 2|

OR(3721dT)

Determine the Inverse Z- transform of

Vi
————— for | Z|>1
(3z -4z+ 1)
Z - - (v
S &I 399 STABiH ST B |
(3z -4z+ 1)
Siel | Z]>1 B

11. Simpfiy the block diagram shown in figure and find
its overall transfer function.
8
Gz(s)
R(s)_3{ Gy(9) 3 [eND) -t G4(9) >Y(s)
H (s) H,(s)
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